

## C.1 Basic Discrete-Time Fourier Series Pairs

Time Domain	Frequency Domain
$x[n] = \sum_{k=0}^{N-1} X[k]e^{jk n \Omega_o}$ <p style="text-align: center;">Period = N</p>	$X[k] = \frac{1}{N} \sum_{n=0}^{N-1} x[n]e^{-jk n \Omega_o}$ $\Omega_o = \frac{2\pi}{N}$
$x[n] = \begin{cases} 1, &  n  \leq M \\ 0, & M <  n  \leq N/2 \end{cases}$ $x[n] = x[n + N]$	$X[k] = \frac{\sin\left(k \frac{\Omega_o}{2} (2M + 1)\right)}{N \sin\left(k \frac{\Omega_o}{2}\right)}$
$x[n] = e^{jp \Omega_o n}$	$X[k] = \begin{cases} 1, & k = p, p \pm N, p \pm 2N, \dots \\ 0, & \text{otherwise} \end{cases}$
$x[n] = \cos(p \Omega_o n)$	$X[k] = \begin{cases} \frac{1}{2}, & k = \pm p, \pm p \pm N, \pm p \pm 2N, \dots \\ 0, & \text{otherwise} \end{cases}$
$x[n] = \sin(p \Omega_o n)$	$X[k] = \begin{cases} \frac{1}{2j}, & k = p, p \pm N, p \pm 2N, \dots \\ -\frac{1}{2j}, & k = -p, -p \pm N, -p \pm 2N, \dots \\ 0, & \text{otherwise} \end{cases}$
$x[n] = 1$	$X[k] = \begin{cases} 1, & k = 0, \pm N, \pm 2N, \dots \\ 0, & \text{otherwise} \end{cases}$
$x[n] = \sum_{p=-\infty}^{\infty} \delta[n - pN]$	$X[k] = \frac{1}{N}$

## C.2 Basic Fourier Series Pairs

Time Domain	Frequency Domain
$x(t) = \sum_{k=-\infty}^{\infty} X[k]e^{jk \omega_o t}$ <p style="text-align: center;">Period = T</p>	$X[k] = \frac{1}{T} \int_0^T x(t)e^{-jk \omega_o t} dt$ $\omega_o = \frac{2\pi}{T}$
$x(t) = \begin{cases} 1, &  t  \leq T_o \\ 0, & T_o <  t  \leq T/2 \end{cases}$	$X[k] = \frac{\sin(k \omega_o T_o)}{k \pi}$
$x(t) = e^{jp \omega_o t}$	$X[k] = \delta[k - p]$
$x(t) = \cos(p \omega_o t)$	$X[k] = \frac{1}{2} \delta[k - p] + \frac{1}{2} \delta[k + p]$
$x(t) = \sin(p \omega_o t)$	$X[k] = \frac{1}{2j} \delta[k - p] - \frac{1}{2j} \delta[k + p]$
$x(t) = \sum_{p=-\infty}^{\infty} \delta(t - pT)$	$X[k] = \frac{1}{T}$

### C.3 Basic Discrete-Time Fourier Transform Pairs

Time Domain	Frequency Domain
$x[n] = \frac{1}{2\pi} \int_{-\pi}^{\pi} X(e^{j\Omega}) e^{j\Omega n} d\Omega$	$X(e^{j\Omega}) = \sum_{n=-\infty}^{\infty} x[n] e^{-j\Omega n}$
$x[n] = \begin{cases} 1, &  n  \leq M \\ 0, & \text{otherwise} \end{cases}$	$X(e^{j\Omega}) = \frac{\sin\left[\Omega\left(\frac{2M+1}{2}\right)\right]}{\sin\left(\frac{\Omega}{2}\right)}$
$x[n] = \alpha^n u[n], \quad  \alpha  < 1$	$X(e^{j\Omega}) = \frac{1}{1 - \alpha e^{-j\Omega}}$
$x[n] = \delta[n]$	$X(e^{j\Omega}) = 1$
$x[n] = u[n]$	$X(e^{j\Omega}) = \frac{1}{1 - e^{-j\Omega}} + \pi \sum_{p=-\infty}^{\infty} \delta(\Omega - 2\pi p)$
$x[n] = \frac{1}{\pi n} \sin(Wn), \quad 0 < W \leq \pi$	$X(e^{j\Omega}) = \begin{cases} 1, &  \Omega  \leq W \\ 0, & W <  \Omega  \leq \pi \end{cases}$ $X(e^{j\Omega})$ is $2\pi$ periodic
$x[n] = (n+1)\alpha^n u[n]$	$X(e^{j\Omega}) = \frac{1}{(1 - \alpha e^{-j\Omega})^2}$

### C.4 Basic Fourier Transform Pairs

Time Domain	Frequency Domain
$x(t) = \frac{1}{2\pi} \int_{-\infty}^{\infty} X(j\omega) e^{j\omega t} d\omega$	$X(j\omega) = \int_{-\infty}^{\infty} x(t) e^{-j\omega t} dt$
$x(t) = \begin{cases} 1, &  t  \leq T_o \\ 0, & \text{otherwise} \end{cases}$	$X(j\omega) = \frac{2 \sin(\omega T_o)}{\omega}$
$x(t) = \frac{1}{\pi t} \sin(Wt)$	$X(j\omega) = \begin{cases} 1, &  \omega  \leq W \\ 0, & \text{otherwise} \end{cases}$
$x(t) = \delta(t)$	$X(j\omega) = 1$
$x(t) = 1$	$X(j\omega) = 2\pi\delta(\omega)$
$x(t) = u(t)$	$X(j\omega) = \frac{1}{j\omega} + \pi\delta(\omega)$
$x(t) = e^{-at}u(t), \quad \text{Re}\{a\} > 0$	$X(j\omega) = \frac{1}{a + j\omega}$
$x(t) = te^{-at}u(t), \quad \text{Re}\{a\} > 0$	$X(j\omega) = \frac{1}{(a + j\omega)^2}$
$x(t) = e^{-a t }, \quad a > 0$	$X(j\omega) = \frac{2a}{a^2 + \omega^2}$
$x(t) = \frac{1}{\sqrt{2\pi}} e^{-t^2/2}$	$X(j\omega) = e^{-\omega^2/2}$

## C.5 Fourier Transform Pairs for Periodic Signals

Periodic Time-Domain Signal	Fourier Transform
$x(t) = \sum_{k=-\infty}^{\infty} X[k]e^{jk\omega_0 t}$	$X(j\omega) = 2\pi \sum_{k=-\infty}^{\infty} X[k]\delta(\omega - k\omega_0)$
$x(t) = \cos(\omega_0 t)$	$X(j\omega) = \pi\delta(\omega - \omega_0) + \pi\delta(\omega + \omega_0)$
$x(t) = \sin(\omega_0 t)$	$X(j\omega) = \frac{\pi}{j}\delta(\omega - \omega_0) - \frac{\pi}{j}\delta(\omega + \omega_0)$
$x(t) = e^{j\omega_0 t}$	$X(j\omega) = 2\pi\delta(\omega - \omega_0)$
$x(t) = \sum_{n=-\infty}^{\infty} \delta(t - nT_s)$	$X(j\omega) = \frac{2\pi}{T_s} \sum_{k=-\infty}^{\infty} \delta\left(\omega - k\frac{2\pi}{T_s}\right)$
$x(t) = \begin{cases} 1, &  t  \leq T_0 \\ 0, & T_0 <  t  < T/2 \end{cases}$ $x(t + T) = x(t)$	$X(j\omega) = \sum_{k=-\infty}^{\infty} \frac{2 \sin(k\omega_0 T_0)}{k} \delta(\omega - k\omega_0)$

## C.6 Discrete-Time Fourier Transform Pairs for Periodic Signals

Periodic Time-Domain Signal	Discrete-Time Fourier Transform
$x[n] = \sum_{k=0}^{N-1} X[k]e^{jk\Omega_0 n}$	$X(e^{j\Omega}) = 2\pi \sum_{k=-\infty}^{\infty} X[k]\delta(\Omega - k\Omega_0)$
$x[n] = \cos(\Omega_1 n)$	$X(e^{j\Omega}) = \pi \sum_{k=-\infty}^{\infty} \delta(\Omega - \Omega_1 - k2\pi) + \delta(\Omega + \Omega_1 - k2\pi)$
$x[n] = \sin(\Omega_1 n)$	$X(e^{j\Omega}) = \frac{\pi}{j} \sum_{k=-\infty}^{\infty} \delta(\Omega - \Omega_1 - k2\pi) - \delta(\Omega + \Omega_1 - k2\pi)$
$x[n] = e^{j\Omega_1 n}$	$X(e^{j\Omega}) = 2\pi \sum_{k=-\infty}^{\infty} \delta(\Omega - \Omega_1 - k2\pi)$
$x[n] = \sum_{k=-\infty}^{\infty} \delta(n - kN)$	$X(e^{j\Omega}) = \frac{2\pi}{N} \sum_{k=-\infty}^{\infty} \delta\left(\Omega - \frac{k2\pi}{N}\right)$

## C.7 Properties of Fourier Representations

Property	Fourier Transform $x(t) \xleftrightarrow{FT} X(j\omega)$ $y(t) \xleftrightarrow{FT} Y(j\omega)$	Fourier Series $x(t) \xleftrightarrow{FS; \omega_o} X[k]$ $y(t) \xleftrightarrow{FS; \omega_o} Y[k]$ Period = $T$
Linearity	$ax(t) + by(t) \xleftrightarrow{FT} aX(j\omega) + bY(j\omega)$	$ax(t) + by(t) \xleftrightarrow{FS; \omega_o} aX[k] + bY[k]$
Time shift	$x(t - t_o) \xleftrightarrow{FT} e^{-j\omega t_o} X(j\omega)$	$x(t - t_o) \xleftrightarrow{FS; \omega_o} e^{-jk\omega_o t_o} X[k]$
Frequency shift	$e^{j\gamma t} x(t) \xleftrightarrow{FT} X(j(\omega - \gamma))$	$e^{jk_o \omega_o t} x(t) \xleftrightarrow{FS; \omega_o} X[k - k_o]$
Scaling	$x(at) \xleftrightarrow{FT} \frac{1}{ a } X\left(\frac{j\omega}{a}\right)$	$x(at) \xleftrightarrow{FS; a\omega_o} X[k]$
Differentiation in time	$\frac{d}{dt} x(t) \xleftrightarrow{FT} j\omega X(j\omega)$	$\frac{d}{dt} x(t) \xleftrightarrow{FS; \omega_o} jk\omega_o X[k]$
Differentiation in frequency	$-jtx(t) \xleftrightarrow{FT} \frac{d}{d\omega} X(j\omega)$	—
Integration/Summation	$\int_{-\infty}^t x(\tau) d\tau \xleftrightarrow{FT} \frac{X(j\omega)}{j\omega} + \pi X(j0)\delta(\omega)$	—
Convolution	$\int_{-\infty}^{\infty} x(\tau)y(t - \tau) d\tau \xleftrightarrow{FT} X(j\omega)Y(j\omega)$	$\int_0^T x(\tau)y(t - \tau) d\tau \xleftrightarrow{FS; \omega_o} TX[k]Y[k]$
Multiplication	$x(t)y(t) \xleftrightarrow{FT} \frac{1}{2\pi} \int_{-\infty}^{\infty} X(j\nu)Y(j(\omega - \nu)) d\nu$	$x(t)y(t) \xleftrightarrow{FS; \omega_o} \sum_{l=-\infty}^{\infty} X[l]Y[k - l]$
Parseval's Theorem	$\int_{-\infty}^{\infty}  x(t) ^2 dt = \frac{1}{2\pi} \int_{-\infty}^{\infty}  X(j\omega) ^2 d\omega$	$\frac{1}{T} \int_0^T  x(t) ^2 dt = \sum_{k=-\infty}^{\infty}  X[k] ^2$
Duality	$X(jt) \xleftrightarrow{FT} 2\pi x(-\omega)$	$x[n] \xleftrightarrow{DTFT} X(e^{j\Omega})$ $X(e^{j\Omega}) \xleftrightarrow{FS; 1} x[-k]$
Symmetry	$x(t) \text{ real} \xleftrightarrow{FT} X^*(j\omega) = X(-j\omega)$ $x(t) \text{ imaginary} \xleftrightarrow{FT} X^*(j\omega) = -X(-j\omega)$ $x(t) \text{ real and even} \xleftrightarrow{FT} \text{Im}\{X(j\omega)\} = 0$ $x(t) \text{ real and odd} \xleftrightarrow{FT} \text{Re}\{X(j\omega)\} = 0$	$x(t) \text{ real} \xleftrightarrow{FS; \omega_o} X^*[k] = X[-k]$ $x(t) \text{ imaginary} \xleftrightarrow{FS; \omega_o} X^*[k] = -X[-k]$ $x(t) \text{ real and even} \xleftrightarrow{FS; \omega_o} \text{Im}\{X[k]\} = 0$ $x(t) \text{ real and odd} \xleftrightarrow{FS; \omega_o} \text{Re}\{X[k]\} = 0$

*(continues on next page)*

## C.7 (continued)

	<i>Discrete-Time FT</i>	<i>Discrete-Time FS</i>
<i>Property</i>	$x[n] \xleftrightarrow{DTFT} X(e^{j\Omega})$ $y[n] \xleftrightarrow{DTFT} Y(e^{j\Omega})$	$x[n] \xleftrightarrow{DTFS; \Omega_0} X[k]$ $y[n] \xleftrightarrow{DTFS; \Omega_0} Y[k]$ <i>Period = N</i>
<i>Linearity</i>	$ax[n] + by[n] \xleftrightarrow{DTFT} aX(e^{j\Omega}) + bY(e^{j\Omega})$	$ax[n] + by[n] \xleftrightarrow{DTFS; \Omega_0} aX[k] + bY[k]$
<i>Time shift</i>	$x[n - n_0] \xleftrightarrow{DTFT} e^{-j\Omega n_0} X(e^{j\Omega})$	$x[n - n_0] \xleftrightarrow{DTFS; \Omega_0} e^{-jk\Omega_0 n_0} X[k]$
<i>Frequency shift</i>	$e^{j\Gamma n} x[n] \xleftrightarrow{DTFT} X(e^{j(\Omega - \Gamma)})$	$e^{jk_0 \Omega_0 n} x[n] \xleftrightarrow{DTFS; \Omega_0} X[k - k_0]$
<i>Scaling</i>	$x_z[n] = 0, \quad n \neq 0, \pm p, \pm 2p, \pm 3p, \dots$ $x_z[pn] \xleftrightarrow{DTFT} X_z(e^{j\Omega/p})$	$x_z[n] = 0, \quad n \neq 0, \pm p, \pm 2p, \pm 3p, \dots$ $x_z[pn] \xleftrightarrow{DTFS; p\Omega_0} pX_z[k]$
<i>Differentiation in time</i>	—	—
<i>Differentiation in frequency</i>	$-jnx[n] \xleftrightarrow{DTFT} \frac{d}{d\Omega} X(e^{j\Omega})$	—
<i>Integration/Summation</i>	$\sum_{k=-\infty}^n x[k] \xleftrightarrow{DTFT} \frac{X(e^{j\Omega})}{1 - e^{-j\Omega}}$ $+ \pi X(e^{j0}) \sum_{k=-\infty}^{\infty} \delta(\Omega - k2\pi)$	—
<i>Convolution</i>	$\sum_{l=-\infty}^{\infty} x[l]y[n - l] \xleftrightarrow{DTFT} X(e^{j\Omega})Y(e^{j\Omega})$	$\sum_{l=0}^{N-1} x[l]y[n - l] \xleftrightarrow{DTFS; \Omega_0} NX[k]Y[k]$
<i>Multiplication</i>	$x[n]y[n] \xleftrightarrow{DTFT} \frac{1}{2\pi} \int_{-\pi}^{\pi} X(e^{j\Gamma})Y(e^{j(\Omega - \Gamma)}) d\Gamma$	$x[n]y[n] \xleftrightarrow{DTFS; \Omega_0} \sum_{l=0}^{N-1} X[l]Y[k - l]$
<i>Parseval's Theorem</i>	$\sum_{n=-\infty}^{\infty}  x[n] ^2 = \frac{1}{2\pi} \int_{-\pi}^{\pi}  X(e^{j\Omega}) ^2 d\Omega$	$\frac{1}{N} \sum_{n=0}^{N-1}  x[n] ^2 = \sum_{k=0}^{N-1}  X[k] ^2$
<i>Duality</i>	$x[n] \xleftrightarrow{DTFT} X(e^{j\Omega})$ $X(e^{j\Omega}) \xleftrightarrow{FS; 1} x[-k]$	$X[n] \xleftrightarrow{DTFS; \Omega_0} \frac{1}{N} x[-k]$
<i>Symmetry</i>	$x[n] \text{ real} \xleftrightarrow{DTFT} X^*(e^{j\Omega}) = X(e^{-j\Omega})$ $x[n] \text{ imaginary} \xleftrightarrow{DTFT} X^*(e^{j\Omega}) = -X(e^{-j\Omega})$ $x[n] \text{ real and even} \xleftrightarrow{DTFT} \text{Im}\{X(e^{j\Omega})\} = 0$ $x[n] \text{ real and odd} \xleftrightarrow{DTFT} \text{Re}\{X(e^{j\Omega})\} = 0$	$x[n] \text{ real} \xleftrightarrow{DTFS; \Omega_0} X^*[k] = X[-k]$ $x[n] \text{ imaginary} \xleftrightarrow{DTFS; \Omega_0} X^*[k] = -X[-k]$ $x[n] \text{ real and even} \xleftrightarrow{DTFS; \Omega_0} \text{Im}\{X[k]\} = 0$ $x[n] \text{ real and odd} \xleftrightarrow{DTFS; \Omega_0} \text{Re}\{X[k]\} = 0$

## D.1 Basic Laplace Transforms

Signal $x(t) = \frac{1}{2\pi j} \int_{\sigma-j\infty}^{\sigma+j\infty} X(s)e^{st} ds$	Transform $X(s) = \int_{-\infty}^{\infty} x(t)e^{-st} dt$	ROC
$u(t)$	$\frac{1}{s}$	$\text{Re}\{s\} > 0$
$tu(t)$	$\frac{1}{s^2}$	$\text{Re}\{s\} > 0$
$\delta(t - \tau), \tau \geq 0$	$e^{-s\tau}$	for all $s$
$e^{-at}u(t)$	$\frac{1}{s + a}$	$\text{Re}\{s\} > -a$
$te^{-at}u(t)$	$\frac{1}{(s + a)^2}$	$\text{Re}\{s\} > -a$
$[\cos(\omega_1 t)]u(t)$	$\frac{s}{s^2 + \omega_1^2}$	$\text{Re}\{s\} > 0$
$[\sin(\omega_1 t)]u(t)$	$\frac{\omega_1}{s^2 + \omega_1^2}$	$\text{Re}\{s\} > 0$
$[e^{-at} \cos(\omega_1 t)]u(t)$	$\frac{s + a}{(s + a)^2 + \omega_1^2}$	$\text{Re}\{s\} > -a$
$[e^{-at} \sin(\omega_1 t)]u(t)$	$\frac{\omega_1}{(s + a)^2 + \omega_1^2}$	$\text{Re}\{s\} > -a$

### ■ D.1.1 BILATERAL LAPLACE TRANSFORMS FOR SIGNALS THAT ARE NONZERO FOR $t < 0$

Signal	Bilateral Transform	ROC
$\delta(t - \tau), \tau < 0$	$e^{-s\tau}$	for all $s$
$-u(-t)$	$\frac{1}{s}$	$\text{Re}\{s\} < 0$
$-tu(-t)$	$\frac{1}{s^2}$	$\text{Re}\{s\} < 0$
$-e^{-at}u(-t)$	$\frac{1}{s + a}$	$\text{Re}\{s\} < -a$
$-te^{-at}u(-t)$	$\frac{1}{(s + a)^2}$	$\text{Re}\{s\} < -a$

## D.2 Laplace Transform Properties

Signal	Unilateral Transform $x(t) \xrightarrow{\mathcal{L}_+} X(s)$ $y(t) \xrightarrow{\mathcal{L}_+} Y(s)$	Bilateral Transform $x(t) \xrightarrow{\mathcal{L}} X(s)$ $y(t) \xrightarrow{\mathcal{L}} Y(s)$	ROC $s \in R_x$ $s \in R_y$
$ax(t) + by(t)$	$aX(s) + bY(s)$	$aX(s) + bY(s)$	At least $R_x \cap R_y$
$x(t - \tau)$	$e^{-s\tau}X(s)$ if $x(t - \tau)u(t) = x(t - \tau)u(t - \tau)$	$e^{-s\tau}X(s)$	$R_x$
$e^{s_0 t}x(t)$	$X(s - s_0)$	$X(s - s_0)$	$R_x + \text{Re}\{s_0\}$
$x(at)$	$\frac{1}{a}X\left(\frac{s}{a}\right), a > 0$	$\frac{1}{ a }X\left(\frac{s}{a}\right)$	$\frac{R_x}{ a }$
$x(t) * y(t)$	$X(s)Y(s)$ if $x(t) = y(t) = 0$ for $t < 0$	$X(s)Y(s)$	At least $R_x \cap R_y$
$-tx(t)$	$\frac{d}{ds}X(s)$	$\frac{d}{ds}X(s)$	$R_x$
$\frac{d}{dt}x(t)$	$sX(s) - x(0^-)$	$sX(s)$	At least $R_x$
$\int_{-\infty}^t x(\tau) d\tau$	$\frac{1}{s} \int_{-\infty}^{0^-} x(\tau) d\tau + \frac{X(s)}{s}$	$\frac{X(s)}{s}$	At least $R_x \cap \{\text{Re}\{s\} > 0\}$

## E.1 Basic z-Transforms

Signal	Transform	ROC
$x[n] = \frac{1}{2\pi j} \oint X(z) z^{n-1} dz$	$X[z] = \sum_{n=-\infty}^{\infty} x[n] z^{-n}$	ROC
$\delta[n]$	1	All $z$
$u[n]$	$\frac{1}{1 - z^{-1}}$	$ z  > 1$
$\alpha^n u[n]$	$\frac{1}{1 - \alpha z^{-1}}$	$ z  >  \alpha $
$n\alpha^n u[n]$	$\frac{\alpha z^{-1}}{(1 - \alpha z^{-1})^2}$	$ z  >  \alpha $
$[\cos(\Omega_1 n)]u[n]$	$\frac{1 - z^{-1} \cos \Omega_1}{1 - z^{-1} 2 \cos \Omega_1 + z^{-2}}$	$ z  > 1$
$[\sin(\Omega_1 n)]u[n]$	$\frac{z^{-1} \sin \Omega_1}{1 - z^{-1} 2 \cos \Omega_1 + z^{-2}}$	$ z  > 1$
$[r^n \cos(\Omega_1 n)]u[n]$	$\frac{1 - z^{-1} r \cos \Omega_1}{1 - z^{-1} 2r \cos \Omega_1 + r^2 z^{-2}}$	$ z  > r$
$[r^n \sin(\Omega_1 n)]u[n]$	$\frac{z^{-1} r \sin \Omega_1}{1 - z^{-1} 2r \cos \Omega_1 + r^2 z^{-2}}$	$ z  > r$

■ **E.1.1 BILATERAL TRANSFORMS FOR SIGNALS THAT ARE NONZERO FOR  $n < 0$**

Signal	Bilateral Transform	ROC
$u[-n - 1]$	$\frac{1}{1 - z^{-1}}$	$ z  < 1$
$-\alpha^n u[-n - 1]$	$\frac{1}{1 - \alpha z^{-1}}$	$ z  <  \alpha $
$-n\alpha^n u[-n - 1]$	$\frac{\alpha z^{-1}}{(1 - \alpha z^{-1})^2}$	$ z  <  \alpha $

**E.2 z-Transform Properties**

Signal	Unilateral Transform $x[n] \xrightarrow{z_u} X(z)$ $y[n] \xrightarrow{z_u} Y(z)$	Bilateral Transform $x[n] \xrightarrow{z} X(z)$ $y[n] \xrightarrow{z} Y(z)$	ROC $z \in R_x$ $z \in R_y$
$ax[n] + by[n]$	$aX(z) + bY(z)$	$aX(z) + bY(z)$	At least $R_x \cap R_y$
$x[n - k]$	See below	$z^{-k}X(z)$	$R_x$ , except possibly $ z  = 0, \infty$
$\alpha^n x[n]$	$X\left(\frac{z}{\alpha}\right)$	$X\left(\frac{z}{\alpha}\right)$	$ \alpha R_x$
$x[-n]$	—	$X\left(\frac{1}{z}\right)$	$\frac{1}{R_x}$
$x[n] * y[n]$	$X(z)Y(z)$ if $x[n] = y[n] = 0$ for $n < 0$	$X(z)Y(z)$	At least $R_x \cap R_y$
$nx[n]$	$-z \frac{d}{dz} X(z)$	$-z \frac{d}{dz} X(z)$	$R_x$ , except possibly addition or deletion of $z = 0$

■ **E.2.1 UNILATERAL z-TRANSFORM TIME-SHIFT PROPERTY**

$$x[n - k] \xrightarrow{z_u} x[-k] + x[-k + 1]z^{-1} + \dots + x[-1]z^{-k+1} + z^{-k}X(z) \quad \text{for } k > 0$$

$$x[n + k] \xrightarrow{z_u} -x[0]z^k - x[1]z^{k-1} - \dots - x[k - 1]z + z^k X(z) \quad \text{for } k > 0$$